Ex 1.7 Given the following jeint distvibution on (X, Y] (see talide)
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Let X (YY) be an estimator for X (based on'Y ) and let P, = Pr( f ¥) £ XD

« Fimd the minimuen probabilioy errer estimater X (Y) and the associared P,

¢ Fvalware Fano ineguality for this problem and compare,
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Ex L. 9 Constder the ramdows veriable defindd by the follossees A 3(.,1 ?\E‘M

v Find a binary Huffman cade for X,
—

s Find rthe expected codelength for s encodiye

v Findd o dernary Huffman code jor X.



Ex 1. 9 Consider the random variable defined by
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* Find a binary Huffinan code for X.

* Find the expected codelength for this encoding.

* Find a ternary Huffman code for X.
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Ex 1.7 Given the following joint distribution on (X,Y) (see table)
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Let X (Y') be an estimator for X (based on'Y ) and let P, = Pr()f (£ X

*»_Find the minimum probability error estimator X (Y ) and the associated P.,.
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* Evaluate Fano inequality for this problem and compare.
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or the quantities in (a) through (e).
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